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QUESTION 1

An integration developer needs to check which Common Event Infrastructure (CEI) events have
been generated for a business process and review the information contained inside each event.
Where will the integration developer find this information?

A. Inthe Common Base Event browser application.

B. In the monitoring widgets in Business Space.

C. Inthe administrative console -> Service Integration -> Common Event Infrastructure -> Event Service

D. In the Business Process Choreographer Explorer -> Views tab -> Process Instances -> Events generated
Answer: A

QUESTION 2

An integration developer has configured a business state machine, as shown below:
@ InitiaiState1
43 operation1

£53% operation2 ‘ @) Timeout1
State3 S Statel 5
24 Actionl : ¢» Condition1

State2 @) Timeout2
(‘_/,7 Exit1 ‘ & Action2
<> Condition2

<> Condition3

{®) FinalState1

What behavior will the integration developer observe when executing the flow?

A. If Condition3 is false, then Exitl will execute after Timeout2 expires.

B. If Condition1 and Condition2 are both true, then a runtime exception will be thrown.

C. If Conditionl is false, then Timeoutl will not be evaluated.

D. If Conditionl and Condition2 are both false, then operation2 will be called by the business state machine.
Answer: A

QUESTION 3

An integration developer has configured a BPEL business process for a customer, as shown

below:
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%24 ForEach |

=

= Assign

j e.“’ Servicel |

i

Execution of iterations: (0 Sequential (%) Parallel
Index-Variable Name: | I_nﬁex 1

v Iteration

Define the bounds of the range to iterate over by specifying an iteration type.
Type: Expression
Start Expression:

End Expression:

Expression Language: Java W Expression Language: Java

Expression Type: O Visual @ Java

Expression Type: (O Visual (® Java
return min;

return max;

v Early Exit Criterion

Define when to exit the iteration.

Type: igné

Assume that max is greater than min. What should the integration developer take into account
when implementing this for each loop?

There must be an array associated with the for each loop.

It is possible to exit the loop before Index is equal to max.

The values of min and max cannot be changed once the for each activity begins.

If the scope inside of the for each activity is set to isolated, then the activities will run sequentially.

Cow»

Answer: D

QUESTION 4
An integration developer is testing the process shown in the following exhibits.
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amodue » A Processh [# Snippet - LogSnippet
> > @
d X . Processh % O visual © Java
O [ Iniaiface Partoersi 3% || =Reaikon
; @ Details System.out.println{"outputl=r+outputl+” :: "+
» CompanentiInterfac z !
® Catch runtimeFaiure ] DDerlinera "aString="+aString) ;
R Receive ks [ Reference Part... 4 & || SErYer et ]
L 4 ® vai Bowx Administration
o nputl Exit Condition
(& Snippeta ¥ outputt Performance.
2 1%, Catcha astring Expiration
.m st . G Correlabon Sets % % Environment
. . (3 Correlation Pro... % % Event Monitor
Global Event Settings
£ Reply
NOTE:
~input, aString, and output1 are string variables
- aString and output] are intialized to "ORIGINAL"
v
(B8 Tk Fows [ Butd At 2 proprties. 3 £ robens'| 5 Sever Lo b servers] | 747 2108

@) Receive - Receive

1 Partner:*

Component Interface |

Interface:* Component i Interface
Operation:* operation] =1
[ Use data type variables mapping
[Nvame [ Tvpe [ Store into Varisble

©) Inputs input1 atring = | inputt
o [ [ a0 B
Global Event Settings
[# snippet - SnippetA

I
Description | O yisudl @favel
Details /*@bpe.readOnlyVariables names="aString’*/
1| outputi = "MoDIFIED";

Server {| astring = "MODIFIED":
Wa?an __ 7‘ if ( inputl.length() !'= 0 ) {
Exik Condition _— ] throw new IllegallirgumentException():
Performance 1 R
Expiration {
Environment |
Event Monkor
Global Event Settings |

If the integration developer starts an instance of the ProcessA process with an input of "HELLO",
which of the following strings will the LogSnippet snippet write to System.out?

A. outputl=ORIGINAL :: aString=ORIGINAL
B. outputl=ORIGINAL :: aString=MODIFIED
C. outputl=MODIFIED :: aString=ORIGINAL
D. outputl=MODIFIED :: aString=MODIFIED
Answer: C

QUESTION 5

An integration developer has developed the following business process, as shown in the exhibit:
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O

| &» Receive Choice ‘

24 delivered , = received
& Invokel = Assign2

| Lsg Snippet1 ‘ @O Invoke2
=l

| &= DataMap

[ snippet2

.. Lé Reply

Y

O

The invoke activities Invokel and Invoke2 are synchronous invocations and execute in a few
seconds. A compensation handler needs to be defined for Snippet2 following a business action
from the customer. The customer considers performance to be a key requirement. How would the
integration developer implement these requirements? The business process needs to be a:

long-running process because of the required fault handler.
long-running process because of the required compensation handler.
microflow because no human tasks are required.

microflow for best performance as every invoke activity uses synchronous invocation and executes quickly.

©Cow»

Answer: B
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